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Worksheet #2 

Chocolate Party Word Problem

Problem #1: Aryan had 20 chocolates. He
gave 7 to his friend. How many chocolates
does he have now?

Problem #2: Aman had 24 chocolates. He
gave 4 to his friend. How many chocolates
does he have now?

Problem #3: Ayan had 15 chocolates. He gave
4 to his friend. How many chocolates does he
have now?

Problem #4: Piyush had 10 chocolates. He
gave 20 to his friend. How many chocolates
does he have now?

Problem #5: Ronit had 40 chocolates. He
gave 32 to his friend. How many chocolates
does he have now?

Problem #6: Sarthak had 24 chocolates. He
gave 5 to his friend. How many chocolates
does he have now?

Learning goal: Students will be able to solve the story sums implementing
the concept of subtraction.



Score:Grade:Name:

Worksheet #2 (Answers)

Chocolate Party Word Problem

Problem #1: Aryan had 20 chocolates. He
gave 7 to his friend. How many chocolates
does he have now?
Solution:
Number of chocolates Aryan had = 20
Number of chocolates given = 7
Chocolates left = 20 - 7 = 13
Answer: Aryan has 13 chocolates left.

Problem #2: Aman had 24 chocolates. He
gave 4 to his friend. How many chocolates
does he have now?
Solution:
Number of chocolates Aman had = 24
Number of chocolates given = 4
Chocolates left = 24 - 4 = 20
Answer: Aman has 20 chocolates left.

Problem #3: Ayan had 15 chocolates. He gave
4 to his friend. How many chocolates does he
have now?
Solution:
Number of chocolates Ayan had = 15
Number of chocolates given = 4
Chocolates left = 15 - 4 = 11
Answer: Ayan has 11 chocolates left.

Problem #4: Piyush had 20 chocolates. He
gave 10 to his friend. How many chocolates
does he have now?
Solution:
Number of chocolates Piyush had = 20
Number of chocolates given = 10
Chocolates left = 20 - 10 = 10
Answer: Piyush has 10 chocolates left.

Problem #5: Ronit had 40 chocolates. He
gave 32 to his friend. How many chocolates
does he have now?
Solution:
Number of chocolates Ronit had = 40
Number of chocolates given = 32
Chocolates left = 40 - 32 = 8
Answer: Ronit has 8 chocolates left.

Problem #6: Sarthak had 24 chocolates. He
gave 5 to his friend. How many chocolates
does he have now?
Solution:
Number of chocolates Sarthak had = 24
Number of chocolates given = 5
Chocolates left = 24 - 5 = 19
Answer: Sarthak has 19 chocolates left.

Learning goal: Students will be able to solve the story sums implementing
the concept of subtraction.


